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110mH 5 7 11 10
5 7 11 10
1500m | 15 4 3 3 11
20 7 15 3 13 11
100m 15 11 2 3 1
35 7 26 5 16 1 11
5000mW 14 7
35 7 40 5 23 1 11 4
400m 8 1 2
43 7 51 7 23 1 16 13
3000msc| 13 12 5
? 56 | 7 | 63 | 7 23 6 | 16 | 13
L [4x100mR| 8 7 5 4 6
?y 64 10 70 7 28 10 16 19
Y 5000m | 13 10 1 4 8
77 10 80 7 29 14 24 19
200m 15 1" 5 2
92 10 91 10 29 19 24 21
400mH 2 5 14 11 3
94 15 | 105 | 10 40 19 24 24
800m 15 8 5 1 4 3
109 | 15 | 113 | 10 45 20 28 27
4x400mR| 8 3 7 4 6 5
117 | 18 | 120 | 10 49 20 34 32
BE 117 | 18 | 120 | 10 0 49 0 20 34 32
Bz 2 7 1 8 3 9 6 4 5
fatL % 5 10 3 3 15
5 10 3 3 15
Sk 7 5 8 2 14
12 15 11 2 17 15
E M= Bk 8 13 1 3 7
20 15 24 3 4 20 22
P M#E% 6 7 8 3 12
F 20 21 31 11 4 23 34
3 =& | 12 12 5 6
| 32 21 43 11 9 23 40
o lno=—g| o 15 6 3
y 41 21 58 11 15 23 43
E = Bk 11 8 11
41 21 69 11 23 23 43 11
(31 41 21 69 11 0 23 0 23 43 11
Bz 3 6 1 7 9 4 9 4 2 7
we 158 | 39 | 189 | 21 0 72 0 43 77 43
Bz 2 7 1 8 9 4 9 5 3 5
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100mH | 15 6
15 6
1500m | 12 3 6 12 2
27 3 6 12 8
100m 14 11 2 1 8
41 14 6 2 13 16
5000mW 8
41 22 6 2 13 16
400m 15 6 4 3 5
56 28 6 5 13 21
X [4x100mR| 8 7 6
f 64 35 4 6 5 13 27
?y 3000m | 10 8 11
s 74 43 4 10 5 24 | 27
200m 8 10 5 8
82 53 4 10 10 | 29 35
400mH 8 7 5 6
90 60 9 10 10 | 29 | 41
800m 13 8 5 7
103 68 9 10 10 | 34 | 48
4x400mR| 8 7 5 6
111 75 9 10 10 | 39 54
Ba 11 0 75 0 9 0 10 10 39 54
JEL 1 2 7 5 5 4 3
fah 1% 1 9 8 4 5
1 9 8 4 9 5
E M= Bk 10 10 3 12
11 19 3 12 8 4 9 5
HY1E 11 12 7
% 22 31 3 12 8 4 9 12
= Mm% 9 15
3 31 46 3 12 8 10 9 12
I Em Bk 8 7
ue 39 53 3 12 8 10 9 12
k =Bk 8 13
47 53 3 25 8 10 9 12
NoOR—#H| 13 8
60 61 3 25 8 10 9 12
B#R 60 0 61 0 3 25 8 10 9 12
IEfE 2 9 1 9 8 3 7 5 6 4
we 171 0 136 0 12 25 18 20 | 48 66
IEfE 1 9 2 9 8 5 7 6 4 3




